£S5 | #AH I # -
120 200 120
PRE: 9T VE (B2E)
82.5 275 82.5
UFfda)
8—@&5{ﬁ tAAEZ  M8X20 4%
2, METFv hiak S £AREZ M6X18 4%
TAZEZR M6X16 4K
|~ >< o \ AZEZR M6X14 4K
O r O
XTREE - RISy b EERXRIWRRY - FHhy
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 25V RESORHOR IR BROE
X2A14
440 38
& S
[ ; 1 % 4Q__L,
- - - *tt*ﬁ’fﬁ}"ﬂ] *********************************** [t’?’r“:ﬁ?ijlf -— - —
Co o ke l:::7?T:
38
440
-89
o
2 &
- -""~"~">">"">"”>""”>""”"”/7~ T~~~ -~-~"-~"-—"""7"7"7"7"""7""7""""&w"-""F"7"F""7>"7">">">/"/"¥"/"”/¥"/""/"»"/="”w-"">"="-""="-">-">">=""° L
& l |
m | 3 | 2N
S N& & &
95 2950 95
20 400 2 _
% |HE B & % RELE |8 - 18 SE oo 89
RE| 1/2 (A3) vl
2 | x TREER
2 | & B % 3 % 3 0 W FFP| C40
—FORVICE e
BAI# —AH—-E2K%REH — — | 20141105-2

Drawing Sheet A3(297mmX420mm)



